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29, Calculate the mass of NaOH which is required to neutraiize 25.00 ml of 0.500 M H,S0,. (3 marks)
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© 30, A 1.0 M unknown soluticn was analyzed and the following was observed:

Dimbyglosing

Classify the unknown as an acid or base indicating whether itis weak or strong. Justify your answes
using the datz provided. (2 marks)
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31. Calculate the pH of 2.0 M nitrous acid. 4 Ewawuu‘
HWNO, + H = WO, + Wq
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12, A 2.0 L soluticn costains one mole of the weak acid, HyP0,, in equilibrium with one mole of the salt,
Nal,PO,.
a) Wiite an equation that represents this squilionem. (2 marks)

HaPoy + W0 = H, P + Hyo

b) Explain wity the pH of this sclution does not change significantly whea 100 mLof 1OMEKOH s
added. (1 mark)
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33. Lactic acid, HC;H,Qy, is a compound that accumulates in musele tissue during exertior. Write the
equation and the K, expression for the ionization of lactic acid in waier. (2 marks)
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